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Recently "Patriot missiles™ are in News. Consider the following statements regarding the "Patriot missiles"
1) They are surface-to-air guided missile systems.

2) They are manufactured by USA.

Which of the statements given above is/are correct?

a) lonly

b) 2only

c) Both1land2

d) Neither 1 nor 2

"YZ Ceti b" which is in news recently is :
a) An Exoplanet

b) A super Computer

¢) An artificial Sun

d) A Missile of China

. With respect to Group of 77 (G-77), consider the following statements.

1) It was established at World Treaty Organization (WTQ) by developed nations to articulate and promote
the collective economic interests of developing nations within the United Nations system.

2) India is a member of G-77.

Which of the above statements is/are correct?

Select the correct code.

a) 1lonly

b) 2only

c) Both1land2

d) Neither 1 nor 2

. Living Lands Charter’ was recently adopted by:

Select the correct code.

a) G-7 members

b) Commonwealth Heads of Government Meeting (CHOGM)
¢) Convention of Biological Diversity Secretariat

d) CITES Secretariat

Consider the following statements regarding International Energy Agency’s Technology Collaboration
Programme on Bioenergy (IEA Bioenergy TCP):
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1) Itis an international platform which aims to improve co-operation and information exchange between
countries that have national programmes in bio-energy research, development and deployment.

2) India has joined IEA Bioenergy TCP as its 25" member.

Which of the statements given above is/are correct?

a) lonly

b) 2only

c) Both1and2

d) Neither 1 nor 2

. Which of the following is/are a direct implication of US sanctions on oil imports from Iran?
1) International crude oil prices will rise

2) Rupee will appreciate

3) India's trade deficit will increase

4) Consumer price index based inflation rises

Select the correct answer using the code given below.

a) land4only

b) 2and 3 only

c) 1,3and4only

d) 2only

Consider the following statements about Steel Production in India.
1) India is the second largest steel producer in the world

2) Per capita steel consumption in India is 78Kkilos.

Which of the statements given above is/are correct?

a) 1lonly

b) 2only

c) Both1land2

d) Neither 1 nor 2

Toque monkeys are in news recently. They are endemic to
a) Srilanka

b) India

c) Bangladesh

d) Pakistan

" One World TB Summit™ Is recently held at
a) Varanasi

b) Bangalore

c) Kolkata
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d) New Delhi

Consider the following statement about Global Innovation Index 2022,

1) The index is released by the World Intellectual Property Organization (WIPO).

2) India has been ranked 44th in the Global Innovation Index (GI1) which is an improvement of six spots
from that in 2021.

Which of the statement/s given above is/are correct?

a) lonly

b) 2only

c) Both1and2

d) Neither 1 nor 2
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